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Solve each problem.

Ex) 789 + 462 = 1,251

1) 6,749 - 3,057 = 3,692

2) 562 + 46 = 608

3) 29 - 7 = 22

4) 66 + 2 = 68

5) 155 - 60 = 95

6) 929 + 61 = 990

7) 9,027 - 192 = 8,835

8) 723 + 122 = 845

9) 97 - 2 = 95

10) 927 + 408 = 1,335

11) 102 - 46 = 56

12) 42 + 13 = 55

Answers

Ex. 1,251

1. 3,692

2. 608

3. 22

4. 68

5. 95

6. 990

7. 8,835

8. 845

9. 95

10. 1,335

11. 56

12. 55
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Solve each problem.

845 22 3,692 990 95

608 1,335 95 8,835 68

Ex) 789 + 462 = 1,251

1) 6,749 - 3,057 = 3,692

2) 562 + 46 = 608

3) 29 - 7 = 22

4) 66 + 2 = 68

5) 155 - 60 = 95

6) 929 + 61 = 990

7) 9,027 - 192 = 8,835

8) 723 + 122 = 845

9) 97 - 2 = 95

10) 927 + 408 = 1,335

Answers

Ex. 1,251

1. 3,692

2. 608

3. 22

4. 68

5. 95

6. 990

7. 8,835

8. 845

9. 95

10. 1,335
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